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4.1 Calibration
4.1.1 ADC Calibration

ADCOO0OOODOOOOCOOOOOO0O000000OOODOOODOOD 0~4095000000
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OOy OOOOODOOODO ADCOOOOOOODOODODOOODODODOODODODOOO abOOOO
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OODOONaIOOOODODOO0OO00000D0O000000000PsO00DO0O0O0000O 511keV
Oy O0OOOO0OOO (0keV)DOOOOOOODOOADCOUOOOOOO 410000000000
420000000000000000000000O00ODOO0O0O0O0O ADCOOOOOOOOOO
oooooboobo 41000000000

0 41: ADCOOOO0OO0OO0QOQOOoOOoOOoOoOO
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ADC1 | 202 934
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00000000000000000
E\[keV] = 0.698 x (ADC'1 — 141.0)

Ey[keV] = 0.732 x (ADC?2 — 133.2)
Es[keV] = 0.789 x (ADC3 — 175.9)
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Nall 1680 89.6+2.0 184
Nal2 1030 92.1+29 17.1
Nal3 1070 100+2.6 18.6
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4.3 pick-off 0 [0
4.3.1 pick-off 0O OO
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4.3.2 pick-off U0 ODOOO0O
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0 4.5: f(t) 00

Nall

Nal2

Nal3

200
250
300
350
400
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600
650
700
750
800
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0.7973
0.7023
0.5089
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0.2136
0.2329
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0.1482
0.1691
0.1334
0.1383
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0.2275
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0.1378
0.1469
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0.1163
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0.8127
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0.3972
0.4030
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0.2218
0.1713
0.1375
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0.1243
0.1000

0 46: f()00000000O0O0OOOO0O

DPo
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Nal3
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2.374 +0.445
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172 +£21
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4.3.4 pick-of 00 ODOODO
000000000 f()D000O0O0OO0O0OU0OOOODOODOOUOOO

1+ f(t)

torho

0000000000 +¢«0000 o-PsO00O NH)OOODODOOOOOO

r obs — r ortho + r pick—off —

d];[(t) = 7N(t) X (r ortho + r Pick—off) = N(t) X (1 +f(t))
t tortho
gbooooooboobgon

N(0) = eap(—— [+ 70)

0000000000000 00000 o-PsO00OO00O0OO —dN(t)/dtO0000O00OOOODO

0o
_dN() = No(1+ f(t)) x exp(—
dt ortho

[+ s
oooooodooooooooooooooooon

mu+fmkw«§;/mu+fw»+m
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obooooOoboono 47004150000

047 000000000000000O0
Po p1 P2

Nall | 2036 | 169.9 +3.7 | 16.59
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OO0000000D000000 o-PsOO0D0ODODO
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goooo
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s0 OO

5.1 0JO0O0ooon
00000000000000000000000000000

where ¢ = q(z1, ..., 2,)

B aq 2 aq 2

goooooooo
5.1.1 TQUOUOUOOOODO
TQUOOOOOOOOOOODOODOooooo

AT = (E_p#)pz (5.2)

IAT 2 JOAT 2 JOAT 2
IAT = ((5])0) + ((5})1) + ((5])2)
Opo op1 Op2

2 2
Po (Spo D2
T _ P2 é log (E — p1)6ms)2
(E—p1)p2\/( Do ) * (E—pl p1> + (log (E' = p1)dp2)

000000000000 TQUOOO AT+ 6AT, AT—-0oATOO0OO0 TQOOODOOOO
ooooooboooooobooo

(5.3)

AT + AT
Nallll91.4 + 2.5ns
Nal20 91.5 + 3.5ns
Nal30 100 + 3.3ns

AT — AT
Nalll 62.5 £ 1.1ns
NalI200 67.1 & 2.0ns
Nal30 85.2 4 2.3ns

28



Nal2O00OODOOOOOOO0OO00 TQUOOOOODDOOO 92.1ns000000000000
gbooooOobobooobooboooobobooooooDo
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5 -3/45 -1/25 -1/46 0 +1/46  +1/26 +3/45  +6
NaIl 625 740 849 895 896 906  90.0 905 914
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g = po(1+ F(8)) exp (—pl Jaa+ f(t))> po (5.4)

f(t) = qoexp (—;) + g2 (5.5)

1 t
89 =po exp { <t(1 + q2) — qoq1 exp <)>}
P1 q1
t q t 2
{exp (—) (1 + a (1 + goexp <—> + qz)) (5q0}
q1 D1 q1
t t 1 t t 2
+qqexp|{—— |z +—(1+—)(1+awexp|{——)+a]|dn
q1 97 D1 q1 q1
213
t t
+ {(1 - — (1 + qo exp (—) +q2>> 5q2} ]
D1 q1

TQOOOO 5gDDDDDDDDDDDDDDDDDDD%&]DDDDDDDDDDDDDD
obooooOobooooboboon

X

(5.6)
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NaI3 233 209 183 151 180 210 221 228 232

gboboobobooooboooooobooooooobo

U;ol = 56ns 0;02 = 54ns 0;03 = 53ns
Opo1 = 1908 0,0 =35ns 0,5 = 29ns

5.1.3 00000000

0000000000000 000000 pickof 000000000000 O0OOOOODOO
oboooooboooooobooon

2 2
of = \/(0;5@) + (o0)" + (0 pitting1)’ (5.7)

oboooooooooon

of =56.2 o] =333
of =543 o, =433
o3 =532 o5 =329

OO0 Na3OOOOODDOOOOOODO 17965ns 000000000 OO00ODOOOOOO
goooboob 200000000000 0Db00O00DbDO0bObOOnOg

5.2 U0OOOnoooooon

TQOODODODOODODODDOOOOOOOOOO0O0000o0oooooooooooooooooooo
gobooooboobobgooboooobuoobboooboboobboobobooboooboo
U 120ns0000000000O0O0O0DO0O0OCOO0DOOO0DOOO0OO00O0O0000000 120ns
obobooooboobooooboocbooobooooboooooooooonbOOonbDOon 120ns000
gooooooobobobobobobobobobobobobobobooooobobobo
Oo000O0 TQUOOOOOOO AT-dATOO0OOI20ns0000000000000O0OOO
gboboobOoboooboobooooboooooobooooboon

ubobooagobouooobodgbooobboooboboobooobboooboobooobbooaono
oOoTQOOO0O0ODOCOOOO0DOOoOOooDoOn

30



ELTIME E2:TIME E3:TIME

H1 H2 H3

0 100 200 300 400 500 600 0 100 200 300 400 500 600 0 100 200 300 400 500 600

HEN

obooooooboooobobooboooboooobboooooooboooooooonn
oo000O0oooooOooOoooOooOoOoO0oooOoOoOoOoOoOoooOoOoOoO0 TAODOOOOO
obooooOobooooboboooo

googd

1.JJ. 0000000000 (2010)000000000000OO 0 0000000 O
oooooooboon.

2.00000 (199000000 oUoooo

3.20140000 A200000000.
http://www-he.scphys.kyoto-u.ac.jp/research/ATLAS /dokuwiki/lib/exe/fetch.php?media=education:
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